Invariant Mass Plots

1. With No cuts (offline)
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2. |angle|<0.6, chargeK<0,chargePi>0,|etaD0|<1.85
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All Plots below has the cut |angle|<0.6, chargeK<0,chargePi>0,|etaD0|<1.85. Other cuts applied are given with each plot.

3. SiHits>0
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4. Prob_tcfit>0.1, SiHits>0
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Requiring SiHits >1 puts the statistics too low.

I tried some of the safer cuts here. It is clear from the above plots that the cut on SiliconHits is important. The statistics is low to try SiliconHits higher than 2.

The above plots used the BRTW fit function. The mass seems to be shifted to a higher value than the actual D0Mass. See a polynomial fit here
Other cuts on decayLength, Dca to Primary Vertex, dca of tracks etc. needs to be looked in detail. 
Cuts in the macro

|PVz| < 10

TpcHits>20
Eta, +/-1

Slength_tcfit < 1000(m

|nSigmaPi|<2, |nSigmaK|<2

pTK > 0.1GeV/c, pTPi > 0.1GeV/c
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S/N ~ 1.5082





No Signal
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S/N ~ 3. 7356
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S/N ~ 3.3291








